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[N.B. 1. Answer all questions in PART A. Each question carries one mark.
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2. Answer any ten questions in PART B. Each question carries two marks.

3. Answer all question by selecting either A or B. Each question-carries
fifteen marks. (7+8)]

PART - A

Find the combined equation of the two straight lines represented by
2x+3y=0 and 4x -5y = 0.

Find the unit vector parallel to 2i-7 + 4k
Find the value of [f+7},7+kk +1

Evaluate: f(x® —x —2)dx

Evaluate: [ f%:ﬁ
PART - B

Find the length of the perpendicular from (2,1) to the straight line
2x+y+1=0
Find the centre and radius of the circle x% + y* = 25.

2 2
Find the eccentricity of hyperbola % - -11—6 = 1.

Find the projection of 37+ 4]+ 5k on i+ 2j + 6k
Show that the vectors 47+ —3k and 37+ 37+ 5k are perpendicular.
fag=7+j+kandb=21—7+k find dxb

Find the value of ‘m’ so that the vectors 21-7+k,7+ 2] — 3k, 37+ mj + 5k are
coplanar.

Find the gradient of ¢ = xyz

Find div F if F = 3x%i+ 5xy2] + xyz3k at the point (1,2,3)
Evaluate: [(x + 3)(x + 2)dx

Evaluate: [(Bsinx + 9)dx

2
Evaluate: fx;; dx

Evaluate: [ x%sin2xdx
Evaluate: [logxdx

Evaluate: [ xe3* dx
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PART - C

Find the equation of the circle on the line joining the points (2,3),
(-4,5) as diameter. Also find the center and radius of the circle.

Find the equation of the circle passing through the origin and cuts
orthogonally each of the «circles x*+y?-6x+8=0 and
x2+y2-—2x—2y—7 =0.

(or)
Find the equation of the Ellipse with focus (2,3) and directrix
x=7 and e = % .

Show that the second degree equation
12x% + 7xy — 10y* + 13x + 45y — 35 = 0 in x and y represents a pair
of straight lines.

Prove that the points whose position vectors
2] + 102,7? + 6] + 6k and —47 + 97 + 6k form an Isosceles triangle.

Find the value of ‘P’ such that the vectors2i — 3] + 5k , pi + 2/ —k
and 37 — J + 4k Lie on the same plane.

(or)
Find the area of the triangle formed by the points whose position
vectors are 37— 2j + k , i — 3] + 5k and 27+ ] — 4k.

Find the Magnitude of the moment of the force 6?+f—7c1cting
along the point (0,1,-1) about the point (4,3,-1).

Evaluate : (a) [(3x + 2)(x + 1)dx  (b) [ sin3xsinxdx

X

Evaluate : (a) [ sec”xtanxdx (b) fe—x-a—sdx
(or)

. 2ax+b dx
Evaluate : (a) fmdx (b) fmdx
Evatuate : (@) f ——2— (b) [ ==

' (4x+1)2-36 Ja-g1x?
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24. py i Evaluate:(a)f x"logxdx (b) [ xe "*dx
ii. Evaluate: (a) [x*cos6x dx (b)f x* e *dx
(or)
B) i, Evaluate: JZ cos3xcosxdx
ii. Evaluate : (a)f(x+ 3)sin7xdx (b)f x% e3*dx
25. A) i. Find the volume of the solid generated by the area enclosed by
the curve y? = x(x — 1) and the X - axis when rotated about
X — axis.

ii. Solve: %* y cotx = sinx
(or)
B) i. Solve:(1+eY) sec’x dx + 5e’tanxdy = 0

y d
ii. Solve: =X+ 2y tanx = etan
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. wdd@s: (a) [ sec’xtanxdx (0) [
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